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; 100kN/m#%#BZ % - ~ -|3mEEBER S ~ - -| 100kN/m%#8Z % - ~ -|3mEBZ D -~ -
ZnLst 1.00 | 0.00 ~ 483 60.23 | hs | 000 ~ 483 1.90 9.62 Fns 1.00 | 5.00 ~ 5.40 60.23 | TR | 5,00 ~ 5.40 | 1.90 9.62
2 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
ZnLst 1.00 | 0.00 ~ 585 73.26 | ThUS 000 ~ 585|193 9.76 Fns 1.00 | 6.00 ~ 7.10 73.26 | TS | 6,00 ~ 710 1.93 9.76
3 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 469 5843 | ThWs | 000 ~ 469 1.87 9.46 Fns 1.00 | 6.00 ~ 5.10 5843 | TnLS | 5,00 ~ 6510 | 1.87 9.46
4 100kN/mM%#B%% | 1.00|0.00 ~ 050\ 107.42 |3mEBZ5 ~ -| 100kN/mM%Z#BZ% | 1.00 | 1282 ~ 1452 107.42 |3mEBZ3 ~
st 1.00 | 050 ~ 829 100.00 | #hs | 000 ~ 829|266 12.88 Fns 1.00 | .00 ~ 1282 100.00 | =hLS | 5.00 ~ 1452 | 2.556 12.88
5 100kN/mM%#8%% | 1.00|0.00 ~ 0.78| 111.71 |3mEBZ5 ~ -| 100kN/m%E#z2% | 1.00 | 1312 ~ 1600 111.71 |3mZERBZD ~
st 1.00 078 ~ 857 100.00 | =hLs | 000 ~ 857|279 14.11 Fns 1.00 | 6.00 ~ 1312 100.00 | =hLSt | 5.00 ~ 16.00| 2.79 14.11
6 100kN/m##25 | 1.00 | 000 ~ 151 122.96 |3m%E#BZ 5 ~ -| 100kN/mM%#BZ% | 1.00 | 1062 ~ 1600| 122.96 |3mEBZ3 ~
Zh Lo 1.00 | 1.561 ~ 9.29 100.00 | =nds | 0.00 ~ 9292351 11.65 Zh st 1.00 | 6.00 ~ 1062 100.00 | =hLSt | 5.00 ~ 16.00| 2.31 11.65
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ zh st ~ Zh st ~ Zh s ~
100kN/mM% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ zh st ~ Zh st ~ Zh LS ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
ZFhst ~ Zhn st ~ ZzhnLs ~ Zhnst ~
100kN/mM% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
st ~ ZhnLst ~ Zzhnst ~ ZhLst ~
100kN/m% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
Zh st ~ Zzh st ~ Zh st ~ Zh st ~
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